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LR— hFERE 11.1.
(1) Cre® + Che™" — icoszf - iSint
' ? 10 10
1
(2) €'(Cycost + Cysint) — get cos 2t

(3) Ce* + €2t{2t sint — (t* — 2) cost}
1
(4) Cre’ + Coe™ — 5(75 sint cost)

1
(5) Cre® + Cye' + 4> + 12t + 14 — 5(3 cost + sint)

(6) Cycos2t + Cysi 2 4 2t+t3 5y 2 os3t
COS Sin —€ — — —1 — — COS
! 2 8 4 8 5

—ot
(7) Cre*" + Cye ™ + C5cos 2t + Oy sin 2t — 68—0 cos 2t
3 t2

t
(8) Cycost+ Cysint + Cstcost + Cytsint — Esint— Zcost



LR— MERE 11.2.
(1) x(t) = Cycost + Cysint + %sint,
y(t) = —=Cysint + Cycost + %sint—l— %cost
(2) z(t) = Ce 5t +1—2, y(t) = ge_gt +t—1
(3) x(t) = Cre™ + Che!’? + ge_t — 5t —2,

C 4
y(t) = —Cre™ + 22t/ 4 Ze7t — 3¢

2 5
3 1
(4) z(t) = e *(Cycost + Cysint) + 1—76% + 5 sint,
e 2 _ 4 5 3 1.
y(t) = 5 (Cy — Cy)cost + (Cy + Cy)sint p — T7¢ + Zcost - L—Lsmt
4
(5) x(t) = Cre® + Coe™ — §et, y(t) = Cre® — 3Ce " — 2¢',
3
2(t) = Cye® — Cre? + 5026_% + 2¢'
3 3 7 Ch 1 3 7

6) x(t) = Cre ™™ + =t — —t+ - t)=Cy— —e 2+ > — —t* + —t
6) a(t)=Cre ™ +5t" —gt+ 7 y(t)=Co— e ™ + 58" — 7+ 7,

3
2(t) = —2C1e 2" 4 3t — 3



